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Name: __________________________________

Civics STUDY GUIDE
KNOWING THE AMENDMENTS:


1. What amendment gives us the freedom of speech?

2. What amendment gives us the assurance that we will not have things seized from our house without a warrant?

3. What amendment gives us the freedom to buy and own firearms?
4. What amendment gives you the right to a speedy trial?

5. What amendment gives you the opportunity to plead the fifth?

LIBERAL OR COSERVATIVE VIEWPOINTS: Answer with a “L” for Liberal and a “C” for Conservative
1. _____________The death penalty is a punishment that fits the crime, it is good!
2. _____________ Women should have the choice to have an abortion.

3. _____________ Guns are bad, they kill people, they should be banned.

4. _____________ Marriage is between one man and one woman, not between the same gender.

5. _____________ Welfare is good, it helps the poor and the government should help people who can’t help themselves. 
POLITICAL PARTIES: True or False, place a “T” if the statement is true, an “F” if the statement is false.
1. ______ The Democrat and Republican parties are the two major parties today.
2. ______ The Marijuana Party, Reform Party, Nazi Party, and Democrat Party, are all third parties.

3. ______ The Republican Party agrees with the conservative viewpoint.

4. ______ The liberal viewpoint is known for being “right-wing.”

5. ______ The conservative view is set on traditional values and keeping things the same.
MULTIPLE CHOICE: Pick the best answer for each question
1.  A voter who agrees with a political party’s basic positions is likely to 

a. vote for the opposing party.

b. ask friends who they support.

c. support that party’s candidates.

d. check another party’s actions.
2. A voter who agrees with different issues on both sides of the political spectrum would likely be a _______________________.
a. conservative



b. reactionary

c. liberal




d. Moderate

3. A person who is on the extreme right or the extreme left would be called this.

a. reactionary/radical


b. reactionary/revolutionist

c. radical/revolt



d. rock/roll

4. Which party is considered a third party?
a. Democratic




b. Republican

c. Nazi




d. Liberal
MATCHING: Chose the picture that symbolizes what the amendment is talking about. 
[image: image3.wmf]
1. Amendment 1                                                                                                                                 
2. Amendment 2
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3. Amendment 3
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4. Amendment 6
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POLITICAL SPECTRUM: Fill in the boxes using the Work Bank 
Word Bank: 
REACTIIONARY        LIBERAL          LEFT
MODERATE









                            Right


 RADICAL 

               

          CONSERVATIVE             

NOTES TO KNOW:
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Favors extreme changes to a new social system








Believes that government must change economic, political, and ideological policies thought to be unfair








Seeks to keep in place the economic, political, and social structures of society








Favors extreme changes to restore society to an earlier, more traditional state





Holds beliefs that fall between the liberal and conservative views, usually including both











